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Answer all the questions in OMR sheet.
Choose the correct answer.

Each question carries 2 marks.

1. Which of the Mowing do you find in a perfectly competitive market ?

(A) Transportation cost
(B) Advertisement cost

(C) Selling cost
(D) Production cost

(A) m
(B) fwW ^T?I

(C) m-
(D) m

2. The price elasticity of demand of a monopolist at the point of his equilibrium 
is —
(A) Ep = 1
(B) Ep > 1
(C) Ep < f
(D) Ep = 0

^ i ismn my ^ —
(A) Ep= 1
(B) Ep > 1
(C) Ep < 1
(D) Ep = 0

3. Which of the following can be controlled by a monopolist ?

(A) . The market price of the product

(B) The volume of the product

(C) Both volume and price of the product

(D) Both but only one at a time

'S I C^Rfc> ?

(A) mm my
(B) mm *i8sim

(C) 'Q ‘9t%nct Sv»^5.

(D) 1%^

4. Which of the following is the condition of success of price discrimination ?

(A) Different elasticity for different market

(B) Absence of reselling possibilities

(C) Imperfect knowledge regarding various market

(D) All the above

8 i my 1% ?

(A) ^rsft^

(B) mtffa *psRRhi
(C) ftfw
(D)

\
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5. Which of the followings determine the equilibrium rate of interest in classical 
theory?
(A) Demand and supply of the product

(B) Demand supply of money

(C) Demand for investment and supply of savings

(D) Demand and supply of loanable fund

(A) friRst <3 CTffiR

(B) wfo Ftf^rt * OWI

(C) 5t%t <3 *w*gri cwi

' (D) vo^Rc^ra ^ cqffifa

6. Speculative demand for money will be infinitely large when

(A) Market rate of interest large enough

(B) Market rate of interest reaches its minimum level

(C) Market rate of interest is zero

(D) Market rate of interest is negative

7. What impact do you find on equilibrium rate of interest when the income 
level rises ?
(A) Interest rate will fall

(B) Interest rate will rise

(C) It will remain unchanged

(D) Impossible to predict

H I ft ?

(A) cror
(B) ^

(C)

(D) ^it ^

8. If the cash reserve ratio of a country is doubled what impact do you find 
on the volume of credit creation ?
(A) It will be just doubled;

(B) It will be halved

(C) It will be trippled

(D) It will remain unchanged

|

!

'kl
tr | ^B \g9f3

(A) vr f^Q«t ^

(B) ^

(C) m ftwt ^

(D) *fi shtos

?(A) <11^1 (B "$B C^t

(B) ^B >wR3 BKB

(C) BMTB ^B *pl 37B

(D) ^ctW5 33B
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11. The most popular and acceptable principle of direct tax is

(A) Fixed tax rate
(B) Proportional tax rate

(C) Progressive tax rate •
(D) Regressive tax rate

bb i wra ^ —

(A) ^ ^13

(B) ^

(C)

(D)

12. Which of the following is not a direct tax ?
(A) Income tax
(B) Sales tax
(C) Professional tax
(D) Property tax

b-^ I (/TO© ^ ?

(A) ^

(B) ^

(C) ^

(D) ^

9. What will happen to the supply of liquid money if the government starts 
selling securities in the open market ?

(A) Supply of Vnoney will fall

(B) Supply of money will rise

(C) It will remain unchanged

(D) It is unpredictable

c?> I C*M feRI W <m&*
^1(23 *|vkG<l ?

(A) WI ^

(B)

(C)

(D) ^Tt *T?I

• <

10. Who will be benefited from inflation —
(A) Fixed income group

(B) Creditor

(C) Producer

(D) None of the above

bo | oil^H ?

(A)

(B) TO1

(C)

(D) -Bl

i
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15. The factors responsible for industrial sickness in India

(A) Shortage of power supply *

(B) Short supply of raw materials

(C) Inefficient entrepreneurship

(D) All the above

t —

(A) f%T<s ^

(B)

(C) *rfit>iG'w4>t\5 'srwot 

• (D)

13. The absolute cost difference theory of International trade was propounded 
by —

(A) J. M. Keynes

(B) David Ricardo

(C) Adam Smith

(D) Marshall

! b'Sl

(A) 05f.

(B) Q&&5

(C) PflSf

(D) ^UMd5^ '5Tfltfe
16. Which of the following is not a labour organization ?

(A) INTUC

(B) CITU

(C) BMS

(D) UGC

^ I 35ff^ ^ ?

(A) INTUC

(B) CITU

(C) BMS

(D) UGC

14. Which of the following is suitable to define an ancillary ?

(A) Industry created with the cooperation of others

(B) Industry that produces and supplies inputs to the Large industries

(C) Industry that can not go without the help of other industry

(D) Industry that was created with the help of large industries

b 8 l >1$J?I\^t "SRJ %M ?

(A) d ^

(B) d f*t^ 'G

(C) d ^5t bolC'o

(D) d *!RIdJ ^5

!
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19. Which of the following is a private sector bank ?
(A) State Bank of India

(B) United Bank of India

(C) HDFC

(D) Allahabad Bank

17. Which of the following Taxes is not imposed and collected by the Central 
Government of India ?
(A) Income Tax

(B) Goods and Services Tax

(C) Professional Tax

(D) All the above
^1 ?

3 H I •D'CM 43 C43tl?I >13413 4^4 'G ^ ?

. (A) ^

(B) <3 *ii3wt 43

(C) ̂ fft43

(D) ^*K33

(A) 3Jf^ ^3

(B) ^S-tl^cite 3Jt^ ^

(C) ft. 4ft ft.

(D) 3Jt4

20. Devaluation of Indian currency will cause domestic prices to —
(A) Fall

(B) Rise

(C) Remain unchanged

(D) None of the above

| C*F%I *Tj^C33 ^*f£3 ft 2f^T3 C4=1C3 ?

(A) 4^74

(B) 3t^£3

(C) ^*1left's sfl4£3 >

(D) ^*[£33 C4faf5^ *T3

18. Which of the following is a traditional item of India's exports ?/
(A) Rice

(B) Wheat

(C) Tea

(D) Software

bV | C4Hf5 ^I30i>3 fb4bl<ft 3'3Fft ^53J ^T3 ?

(A) Ft^f

(B) ^
i

(C)Ft

(D) >T3^G3t3
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23. Which of following Banks works as the Central Bank in India ?

(A) State Bank of India

(B) Bank of India

(C) Central Bank of India

(D) Reserve Bank of India

21. Which of the following cases refers to deficit budget ?

(A) Government Income is greater than its expenditure

(B) Government Expenditure is greater than its income

(C) Government Income is equal to expenditure

(D) Government imposes regressive taxation

1 ?

(A)

(B) Rwttt ^
\

(C) 'Q

(D)

^ I C<FRf5 <JjRj f^C>jC<J ^ ?

(A)

(B) m

(C) ^

(D) <m^ \5^

24. In which of the following areas Indi& could not succeed during the plan 
period?

(A) Increase in national income

(B) Reducing inequality of income

(C) Achieving self sufficiency in food production

(D) Progress in Industry

^8 | (TTOf v5F5^ ^$$5 ?

(A) Wfto %

(B) ^nrr gpr
(C) *iRj

(D) Pnm

22. Indian Fiscal Policy is framed by —

(A) Planning Commission of India

(B) Finance Commission of India

(C) Reserve Bank of India

(D) Government of India

i >is<j>icss ^nrf-4Ri fltw ^ —

(A)

(B)

(C) .

(D)
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25. Which of the following sources of Income is a non tax revenue of the 
Government of India ?

(A) Profit of the Government Enterprises

(B) Interest receipts

(C) Currency coinage and mint

(D) All the above

| Vsiflvs ?

(A)

(B) ara
(C)

(D) it!
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